
(3) Clift_Family_1 “Because you’re in the wrong?” 
 
Participants: Emi = Emily; Jan = Jane, Emily’s mother; Sim = Simon, Emily’s father. 
Speaker symbols: + = Jane’s eyebrows; * = Jane’s gaze; • = Jane’s other visible behaviour. 
Recipient symbols: % = Emily’s visible behaviour. 
 
1  Jan: I wen’ in to see ↑Pauline (.) today.  
2  (0.3)  
3  Jan: Sit down.    
4  (2.4)   
5  Emi: Ghmhph ((clearing throat))  
6  %(1.2)% 
7  emi %bumps down in chair at table% 
8  Jan: An’ I had (.) little ↑chat with her. 
9  (1.2) 
10 Jan: <Abou:t the fact that you’re always ill>.  
11  %(0.8)% 
12 emi %turns away from Jan% 
13 Emi: Uhhhhh::: ((voiced outbreath)) 
14  %(0.4)% 
15  %gets up%  
16 Jan: %No::¿ No, no, no, no, [no:.= 
17 emi %turns round, takes back of chair to push it in--> 
18 Emi:         [(--) 
19 Jan: Why you getting all ∆de[fen[sive.= 
20 Sim:                        [(oh brilliant thinking--) 
21 Emi:                            [(--s:)  
22 jan                     ∆looking at Emi-->? 
23 Jan: =Because you’re in the #↑wron+g? 
24                               +...-->  
25 fig         #fig.4a 
26  (0.1)+#(0.3) 
27 jan .....+raises eyebrows and holds in raise-->((camera cuts away)) 
28 fig       #fig.4b 
29 Emi: %I’m ↑not in the wro::ng. 
30  %pushing hairband into hair-->  
31 Jan: You’re not in the wrong. 
32 Emi: ((brief headshake)) 
33  ↑No::.% 
34     -->% 
35 Jan: *•I go in the:re,• and th’n she says to me, ‘↑How’s= 
36   •R thumb pointing outwards in hold• 
37  *looks to Emi--> 
38  =Emily:’•* 
39       -->• 
40         -->* 

 


